ERIOFEEEKRF EXEIMBEFAMS H30.6.10

EH IEGT | 598% | STRE [ K4 1 2 3 4 5 6 &t ik
50mP60MW 1 1 29[/t =2 99.3 101.3 101.8 100.9 103.4 103.5 610.2
50mP60M 2 1 270/ BB 99.6 101.0 103.6 102.5 101.5 100.9 609.1 [EXF:&
50mP60M 3 1 28|EH#H XA 100.4 101.9 103.6 100.4 101.1 100.1 607.5 [EXF&
50mP60MW 4 1 39[RE B> 101.8 99.0 101.6 101.5 99.6 100.7 604.2
50mP60MW 5 1 30/ & 98.4 99.6 101.6 97.9 98.1 101.9 597.5
50mP60MW-S 6 1 45(# 8 MBS 100.6 99.2 100.7 98.6 98.8 97.5 595.4 |Ra—7
50mP60MW-S 7 1 43| 2% FOEB 99.6 97.6 99.6 100.5 98.2 98.8 594.3 |Ra—7
50mP60MW 8 1 34|WE -= 100.2 99.8 100.4 96.3 96.9 97.3 590.9
50mP60MW 9 1 36|XE TA 98.1 98.9 99.0 96.4 96.1 97.6 586.1
50mP60MW-S 10 1 441BRER X 99.2 96.3 99.2 98.3 96.8 93.6 583.4 [xa—7
50mP60MW 11 1 31|HE fm— 93.7 100.1 98.9 95.0 99.0 94.0 580.7
50mP60MW 12 1 33[iRH H— 98.4 91.0 93.2 97.6 99.1 99.2 578.5
50mP60MW 13 1 A1\ Bk 93.1 99.0 99.0 95.3 97.5 85.2 569.1
50mP60MW 14 1 32| ET 91.7 89.3 99.1 92.9 95.5 97.5 566.0
50mP60MW 15 1 37[EH & 96.1 91.6 94.3 90.8 92.1 84.8 549.7
50mP60MW 16 1 400k BEIS 914 94.0 93.8 86.6 87.5 85.2 538.5
50mP60MW 1 35| =¥ DNS
50mP60MW 1 38|EH RO DNS
50mP60MW 1 42| % —if DNS
50m3X20M 1 2 F8E &3 89 96 97 97 89 89 557 |EAF&
50m3X20M 2 2 B XA 90 93 98 96 81 78 536 [EFF&E
50m3X20MW 3 2 i Y= = 84 89 88 89 69 69 488
50m3X20M 4 2 x5 = 81 80 96 89 69 55 470 |ERTE
50m3X20W 1 2 Ak KX 91 96 92 94 94 91 558 |EFF&
50m3X20W 2 2 EX E£R% 93 94 97 93 86 92 555 |EAF&




